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g 2 | K £ vl 4 > | b=%IL | HDCP | Hwub 7
& B Fl RE 37 34 71 5.4 65.6 300
EE all RE 39 42 81 13.5 67.5 200
3 TR FH 40 39 79 9.9 69.1 150
A1 R 46 40 86 15.3 70.7 100
543 A0 EX 40 38 78 7.2 70.8 90
613 R EF 46 48 94 22.5 71.5
741 Lo FFE 44 42 86 14.4 71.6 75
841 BB FE 40 38 78 6.3 71.7
9fz B EA 43 38 81 9.0 72.0
104iL T BE 39 42 81 9.0 72.0 75
114 NS 41 41 82 9.9 72.1
1241 R/l %t 51 46 97 24.3 72.7
134 KA #H— 45 45 90 17.1 72.9
1441 & F5B 40 42 82 9.0 73.0
154 BAIER  ZBh 37 39 76 2.7 73.3
164 HiE & 43 42 85 11.7 73.3
174 TF FF 42 43 85 11.7 73.3
18 Bk HEZ 39 41 80 6.3 73.7
194 AR ER 46 39 85 10.8 74.2
204z R EE 42 43 85 10.8 74.2 45
214 B B=E80 43 38 81 6.3 74.7
22431 hiE # 43 39 82 7.2 74.8
234 INER B 37 45 82 7.2 74.8
2441 #T EF 47 46 93 18.0 75.0
254 & LT 46 40 86 10.8 75.2
264 F - 46 44 90 14.4 75.6
274 FF =HRE 48 43 91 15.3 75.7
284 a2 =¥ 44 41 85 9.0 76.0
29 TE 42 43 85 9.0 76.0
301 R #HE 41 41 82 5.4 76.6 45
314 mi RBRX 44 47 91 14.4 76.6
321 TR &B—H 49 37 86 9.0 77.0
331 & OEX 45 41 86 9.0 77.0
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344 RAR #H=A 43 43 86 9.0 77.0

354z Bk HHA 40 48 88 10.8 77.2

361 HEH —%X 43 46 89 11.7 77.3

371 XA 8 45 46 91 13.5 775

384 M BRAXER 41 45 86 8.1 77.9

391 ZRIR #E 45 42 87 9.0 78.0

401z TF fi¥F 48 49 97 18.9 78.1 45
4161 &% RB= 51 47 98 19.8 78.2

4213 2R sz 45 47 92 13.5 78.5

4343 A0 = 43 44 87 8.1 78.9

44431 Z82 &N 48 49 97 18.0 79.0

4541 =% A 52 49 101 21.6 79.4

4611 B & 45 50 95 15.3 79.7

4741 2E 44 47 91 10.8 80.2

4841 e B 44 45 89 8.1 80.9

491 hiE B 46 48 94 10.8 83.2

501z BE =REAE 65 51 116 315 84.5 45
514 EH [ERE 48 52 100 15.3 84.7

BBE TR AF 63 51 114 28.8 85.2 75
5313 FE —7 48 49 97 8.1 88.9
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